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A rectangular prism has a volume of 300 cm3. If the area of its base is 25 cm2 how tall is the

prism?
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Antonia wants to buy a jewelry box with the greatest volume. She measures the length, width, and
height of four different jewelry boxes. Which one should she buy to have the greatest volume?
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Damien is building a file cabinet that must hold 20 t3. He has created a base for the cabinet that is
4 ft by 1 ft. How tall should he build the cabinet?

B 2t
20 ft
© att
® sft




image4.tmp
A container is shaped like a rectangular prism. The area of its base is 30 in“. If the container is 5

inches tall, how many 1 inch cubes can it hold?
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